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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

.00 A

.15 1

.50 A

. 25 A

.00 -

.15 7

.50 1

Warning: col ['FVOPH ] is missing

60

65

70 75 80

85




2.

1.

0.8 A

0.6

0.4 -

0.2 -

0.

0

.50

.45

.40

.35

.30

.25

.20

0

0

Trend plot forXX6 1

minFVI

minFVO |

Warning: col

"minFViraw' , 'minFVOraw'] is missing

ETcAlraw |

ETcA1
ETcA

$lol

Warning: col

"ETcA2raw’, 'ETcA2'] is missing

0.2 0.4

0.8

Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

2000 - —@— ECopt

1800 -

16

14

12

10

31.

31.

30.

30.

29.

29.

28.

0.

0.

0.

0.

0.

0.

0.

-0.

-0.

00

00

00

00

5

50

45

40

35

30

25

20

30

28

26

24

22

20

. 04

.02

.00

02

04

50

40

30

20

10

—0— ECI
—@— ECO

A A A A A A A A A A A A A A A A AAAA

Warning: col

A A A A A A A A A A A A A A A A A A A AAAAAAAAAAADAAADLAAALAALAA

"ECC’] is missing

—@— PHopt

Warning: col

"PHC'] is missing

—@— WCperM |

Warning: col

"WCperMraw’, 'WCperMavg'] is missing

—@— minDeltaM

-
——

avgDeltaM |
stdDeltaM

adjFVOR

Warning: col

"adjFVIRraw', 'adjFVIR', "adj

VORraw’ ]

is missing

FRA
FRC
FRraw

FR

e, ,.:-.»o-“”:”«..ﬁ:-!v»mm

° o.o\o—o“—-/

100

——

|

[ ) postFgEtraw |
+
_._

postFgEtavg
postFgEt




- 100

- 80
- 60

FgDaily

0.0 -
5.0 -

10.0 -
15.0 -
20.0 -
25.0 -
30.0 -
35.0 -
40.0 -
T 45.0 -




XX6_1

—8— ETcl

300

250

=@ ETbai

200

150

100

50

60

50

40

30

20

10

30 A

25

20

15 4

10

600 -

500

—8— PPFD

400

300

200

100

400

300

il

=T
[ 1 L)

A TAE TP g
-ww“!!lﬂ

;

200

100

® !

80

75

70

65

60

55

80

60

—&@— ETclis

—0—  ETcPT |
—@— ETcRn

40 'L
e T
e R APIL) "%'A" al g
X N e atal : P ‘
0 4 Ve .ﬁ ,Lstf'\"m"‘> . -!-’k,.; = __."
L aata ~
-20 “ l'i’. [ ) .7") :
|
! 1
0 50 100 150 200 250



ESo ETclis ETcPT ETcP ETcldef ETcl
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I

ETol

VN pVPD pR  ETbai
I

PPFD

T

RH

1 | 1 1 | 1
ETcl ETcldef ETcP ETcPT ETclis ESo

1 1
ETol ETbai

pR

1.0

0.8

0.6

0.4

-0.2

-0.0



I
& o
& e
&
8 e
. _ i @ %
& 5
& @
&
S ° °
S °
S
& ®
. . - P ®
o
° °
)) W)
o o9 % o @
4 | e o o0 o 9
)
%0 o o
° ° o® L X

_ [ Y _ . 900 . _
600 ®00eog,, . %0001,
~ \& AN = N
$eo ) o %,
500 [ ) — - [ ) - —
° [ @g)% e © \4.)\))
[ ] &L@‘“ PS L&Lk\\d
G C
400 - ° @‘“‘“‘& - . ° & . -
—_ _(@° L
[e) > (4
i 300 « : «L‘&.
«© «
200 - R -
100 4 1. 3%¢%) %o 7
[ ] 7Y ® LN J
0 T T T T T T T T _I T T T T T T T
@
300 - - - &
&
& @
¢ @
& )
S e
4 4 i & @
, & )
G s ® o
o 5 °
=4 = @
{ ]
o
_ i 0
‘.%W
9
op,
e®) 290
. o <
o ® oo
°
T T T T T T T T T T T T T T T T
601 o 1 e 1 e i ] ]
° ° ° °
50 - . . . .
40 : 1 1 :
< 30 ° 4 e { e . - °
® e o
o® ° ® 8 ) e '.(o
20 o o®6® Te @ le © 1 1 ¢S
A ~
0] &° 1 2 1 28 | ] %
e e e ®
I o® °® o ©®
e e d 11 e
0 A T T T T ™ T T T B T T T T B T - T T T T
A A
5 00 ) =
. [ ) .... . _ [ ) _ .
400 . g.,\..@ R
a'e ) )
& P P k&.@) e
LL\\.?
300 - & - : : .
[ ] kkk&
(@
— ° @
&
200 - G . : 2 . :
100 - . 0o -
T T T T T T T T T T T T T T
0 20 40 60 80 400 600 0 100 200 300 0 20 40 60 100 200 300 400

ETcl ETol ETbai VN I



250 -

200 -

150

100

50

1.0

0.8

0.6

0.4 -

0.2

0.0

® obs
Fit

200

baiA

baiB

0. 344

0.0125

0.0

0.2

0.4

0.6

0.8

1.

0

60

50 -

40 -

Fit vs obs: a=—0.27, b=25.79,

r=—0.22

-10

1.0

Fit

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1

0



100
0
0
0
0

o o
™ N
© N

—

Jnoy



XX6

AriE) | EBIATK (FD) | EBE (EH/K) | XK iR

08:30 30 10.0 i FnHRe08:30 (RFERES)
12:20 30 10.0 i FiEA@12:20 (KRAIERSE)
23| 60.0 (20%) 20.0 3203 KEC: 2351, PH: 6.9

E&PH (8.61) 1R
RE XK i3k [B] RECEUR Fh ok
RERSERHHEREC/PHIE R, AIRES/IMAEELR R



XX6_1, Day=90 (2025-01-24)

I
T
o

FRV (ml plant-1)
o
~
1

=

TargetDrainEC=2000. 0, TargetSetEC=2351

0.2~

TargetDrainPH=6. 0, TargetSetPH=6.9

016

10

ET (ml/hr/plant)

s
w
o

T
N
o

]
I
I
ByWoFv @D90 04:56: E1=19 Fg=20.0 Ro=550
:
I
T
I

T
—_
o

cumET (ml/plant)

—_

.0

0.8 -

0.6 1

0.4+

0.2~

0.0

300 A

200 ~

100 -

Warning: lcol [' | _obs/, 'PPFD gbs’'] is missing

A A

0

20

To_obs

10

04

_1p

Warning: lcol ['T_obs/] is missing

60

40 -

st

—— RH

[ ] RH_obs
[ RHo_obs

0.2 0.4 0.6 0.8

1.0

T T
> [=23
o o

T
N
o

FRV (ml d-1)






XX6

ORGSRy (0. 3087428716719335 -

[El&PH (8.63) e

BfiE) | BT (7)) | EME (EH/HK) | XS ERR
08:45 90 10.0 i B21£008:45 (RFERE)
23t 90.0 (1) 10.0 3203 KEC: 2317, PH: 6.9

0.35, 28.0 :

31.0ml)), AIEEAEEBEERKERE, BIAEH27.0 ml.




10.0

7.5

5.0

N
3

o
o
[e]e]

FRV (ml plant-1)
N w
S &

—_
o

o

e
©

016

10

ET (ml/hr/plant)

10

ET (ml/hr/plant)

p—ry

.0
0.8
0.6
0.4
0.2
0.0
400
300

200

100

2 04 w ® v
| X 4

XX6_1, Day=89.0 (2025-01-23)

- X Y Y- e Y e T Tt - - r - - - - - X V- - V- Y I I - 150
124 127
1 L 100 T
ae)
1 F9 6160 E
50 >
o
- L
9 10
" i
1 FRV N
| TargetDrainEC=2000.0, TargetSetEC=2317 t
i Warning: lcol ['ECB’,| 'ECC’'] missing
| TargetDrainPH=6.0, TargetSetPH=6.9 t
i Warning: lcol ['PHB',| "PHC'] missing
, 60
Bylnit @D89 04:50: EF=34 Fg=40.0 Ro=8.0 t =
1 c
- i & e & e & e & 9 - 40 =
I —&—o 6o —6—o =
| E
_ : —~ - 20 5
! 5
1 [3)
1
8 8 o £ g 60
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
c|%-| BB | BB | BB | BB | BB B 5 5 il B 5 5 il B 5 5 il B 5 )
1 c
1 ByWoFv-@D8923:55ET=10Fg=10.0Ro=5.0 : - 40 ‘—:_
~N
| E
1 20 =
o & o —6&—o6—6—© I E
4 @ @ \ 4 @ \ 4 @ @ : 3
D T RR—
b o - o e o E— Ll
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
|B | B | B | B |Zc|[ B | KB |BE| B | B B 5 5 il B 5 5 il B 5 5 il B 5
4 —_— 4
(] | _obs
T —@— PPFD obs
{ 4

0.0 0.2 0.4 0.6 0.8 1.

0






XX6

BfiE) | BT (7)) | EME (EH/HK) | XS ERR
08:45 90 10.0 i B21£008:45 (RFEREE)
23t 90.0 (1) 10.0 323 KEC: 2249, PH: 6.9

EORGERRER N (0. 27295962678974667 : 0.35, 55.0 :

Eli&PH (8.66) 1R
FE X 3 5] RECHIR TR K.

RER B HEREC/PHIETR K, FIRERMMIEELR K

69.0 ml)), FIEEAEEBHEEIOKERE, EIAEHS4.0 ml.




XX6_1, Day=88.0 (2025-01-22)

worF——m—m—mDm—o—0—D———D—_D0—/— T ___] - 150

T

080
[V a4
FRV

D
o
I

S
o
1
| ]|
I I

FRV (ml plant-1)

N
o o
]
I
I
1
I
|
|
I
1
I
1
I
I
]
I
1
==
I
I
I
|
|
I
i
I
I
I
I
|
|
i
1
I
I
I
I
|
i
I
1
I
I
I
I
i
|
I
1
I
I
I

TargetDrainEGC=2000. 0, TargetSetEC=2249

e
©

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetDrainPH=6. 0, TargetSetPH=6.9

©
N
1

Warning: lcol ['PHB',| "PHC'] missing

e
o

1
154 Bylnit @D88 04:50: EF=33 Fg=30.0 Ro=5.0

—_
o
1

(S}
1

ET (ml/hr/plant)

\ 4
[
P
[ )

4
0 1 2 3 4 5

— — ES 1= == ES ES 1= == ES ES 1= == ES ES 1= =3 ES ES 1= ==
EXNEZAN i H H 5 A G B 5 A G B B B G B B B G

—_
o O
1

T
S
o

cumET (ml/plant)

ByWoFv @D88 23:55: ET=10 Fg=10.0 Ro=6.0

—_
o
1

- 20

ET (ml/hr/plant)

90

o

0.8 1 P8 5 i FEFANRS i i 5 5 A G B B A G B B B G B B B G

0.6

0.4+

0.2+

0.0
400 4

—_— 4
(] | _obs

300 A —@— PPFD_obs

200 -

100 -

T
T obs
To_obs

RH
RH_obs
RHo obs

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)






XX6

BYiE) | GEBERTHC (B)) | EBRE (BEA/#K) | XS R
08:45 92 10.0 i B21£008:45 (RFERE)
2it| 92.0 (1) 10.0 B 3KEC: 2240, PH: 6.9

LORGEBIRTC (91. 0) 5T0HA (30. 0) AFF, FIEEIRSEXATIK, BKIAERE31.0 ml.

[E&PH (8.82) Wi




XX6_1, Day=87.0 (2025-01-21)

©
o

100 e —————F ]

N
($)]
1

5957
7.5
5.0
. 9

s o
o o
FRV (ml d-1)

T
N
o

T
o

e
o

FRV

FRV (ml plant-1)
N w I
S & &
1 1 =

—_
o
I

ESY

p—ry

TargetDrainEGC=2000. 0, TargetSetEC=2240

e

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetDrainPH=6. 0, TargetSetPH=6.9

e

Warning: lcol ['PHB',| "PHC'] missing

- ° o
o O N > (=] co o N > (=] co o
1 1 1 1 1 1 I I I

1
Bylnit @D87 04:47: EF=33 Fg=30.0 Ro=6.0
1

—_
o
1

(S}
1

ET (ml/hr/plant)

 E— ———
0 [ 1 [ 23] 4]5[6] 78739

18

19

20

21 22 23

—_
o O
1

B | B | BB | B | B |8

E3
B

=
B

= Hi E3
B B B

=
B

=
B

E3
B

E3
B

=
B

=
B

E3 E3 =
B B B

ByWoFv @D87 23:55: ET=10 Fg=10.0 Ro=5.0

—_
o
1

(S}
1

ET (ml/hr/plant)

A 4
®
®
®

ﬁ

99

16

17

18

19

20

21 22 23

o
(o]
1
™
i
™
]
™
i
™
i
™
i
™
]
™
i
™
i
™
i
™
]

E3
B

=
B

= E3 E3
B B B

=
B

E3
B

E3
B

=
B

=
B

E3 E3 =
B B B

0.6

0.4+

0.2+

0.0
400 4

300 -
200

100

—_—
(] | _obs
—@— PPFD obs

T obs
To _obs

60

40 ~

RH
[ ] RH_obs

RHo obs
20 -

0.0 0.2 0.4

0.6

0.8

1.

0

cumET (ml/plant)

cumET (ml/plant)






XX6

TEREHLERE STRRESRT (33.0 :

[El&PH (8.83) e

BYiE) | GEBERTHC (B)) | EBRE (BEA/#K) | XS R
08:45 92 10.0 i B21£008:45 (RFERE)
2it| 92.0 (1) 10.0 B 3KEC: 2231, PH: 6.9

24.0), FIREHTEMAS, EOIAER26.0 ml.




XX6_1, Day=86.0 (2025-01-20)

10.0 fesr——F—————F—————F ]

N
($)]
1

7.5
115
50 92
‘9
| |

o
B
[e]e]
=

N w
o o
I I

FRV (ml plant-1)

—_
o
I

o

e
©

TargetDrainEGC=2000. 0, TargetSetEC=2231

Warning: lcol ['ECB’,| 'ECC’'] missing

©
N
1

TargetDrainPH=6. 0, TargetSetPH=6.9

Warning: lcol ['PHB',| "PHC'] missing

o
—_ -
o O

—_
o
1

(S}
1

ET (ml/hr/plant)

By lnit @D86-06:04: ET=33

1
H

3
I
I
I
I
I
I
I
I
I
I

=30.0 Ro=7.0

o
b
»
»

LI
iy
o

® ¢

® D
¢

T
N
o

cumET (ml/plant)

2 3 4

5

6 7 8

9 10 11

14 15 16

17

19

20

21 22

23

—_
(S}
1

%=

%=

B | B | BE

Hi E3 =
B B B

E3 = =
B B B

E3
B

B

=
B

=
B

E3 E3
B B

=3

—_
o
1

(S}
1

ET (ml/hr/plant)

ByWoFv @D86 23:55: ET=10 Fg=10.0 Ro=4.0

T
S
o

T
N
o

o

17

18

19

20

21 22

23

0.4 F5 |

E3
B

E3
B

=
B

=
B

E3 E3
B B

=
B

0.6

0.4+

0.2+

400 A1

300 -

200 -

100 -

— 1

(] | _obs
—@— PPFD_obs

60

40 -

20 -

—— RH
([ RH

| obs
([ RHo_obs

VPD P

0.2

0.4

0.6

0.8

1.0

cumET (ml/plant)



Plot [[' EcFgro', 'EcFzExp', 'EcPltng’, 'ECdef’ ]]

2200 T
: —%—  ECdef
2000 - 2008008000005000005500000000000 80000000000V 00000000008000000000000000000 000000 0000000000000000000000000000000000000000000000000000000000000000000000000000000 000000500000 0000000000000000000000000000500000050000050000080000000500
1800
1600 -
1400
1200 - sxsssssslianningmsaoked] EcFgro’, "EcFzExp', 'EcPlitng’] is missing
1
T T I T T T T
0 50 100 150 200 250



Plot [’ ECopt’]

2200 T

1 —@— ECopt
2000
1800
1600 ~

1400 ~

1200 ~

0 50 100 150 200 250



Plot Sensor and FgRec Data

dFVi
dFVo

—o—
+

90.0

87.5

85.0

82.5

80.0

77.5

75.0

72.5

70.0

day

00— 06 00— 00— 0000 00— 00—00—00

—&— DUC

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

90.0

87.5

85.0

82.5

80.0

77.5

75.0

72.5

70.0

day

—&— FRV

90.0

87.5

85.0

82.5

80.0

77.5

75.0

72.5

70.0

day

—&— FRC

250
200
150
100
50 -

150 -
125
100
75 -
50 -
25 -
0

1.75 4
1.50
1.25 4
1. 00
0. 75 -
0. 50 -
0. 25 -
0. 00 -

90.0

87.5

85.0

82.5

80.0

77.5

75.0

72.5

70.0

day



400 +-

300

200

100

30 -

25

20

15

10

80

75

70

65

60

55

80

70

60

50

40

30

20

10

3.0

2.5

2.0

1.5

1.0

0.5

1.75

1.50

1.25

1.00

0.75

0.50

0.25

Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI

, 'optEtRate’ ]

lopt

NS

/V”VJZFW*W
/

RS

A~

0 0 100 150 200 250
d
I T
——  Topt :
1
—— L B —
1
: /’__/
A 1 /
"N
1
N\ A 1
|| vV :
1
1
0 50 100 150 200 250
d
T
I — RH
: ———  RHopt
1
1
1
[ |
1
N 1
l k A A |
V "\
VI\/J\'\/J\]
1
v ' 1
1
0 50 100 150 200 250
d
—  ETcl
\\A‘v\’\-\ optETel |

[ A"/\

AT Wb _
'\l v 1 - \
| ! | \ﬂ' \\::DMWAMWW
E ~ // \\ — LAl |
e | o~
/ g ~
/ E \‘\‘
_/ i N
\. Td! E
] M,W “’\vn | ' W‘\[”\j’\j\quI\ I\ WA
L\ VHI /Vr\, A i
A | | i




80

60

40

20

Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]

——
—-——
——

setVI_ETcl
setVI_fgRec |
setVIl_VN

_”_;.

:{

20

40

60

80

100




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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